EIRE HAhFR4E

VEE

4" 6"

V2R

Bz / BAXEE
(IR ER)

ViRE

LRI

v TR

ME&E: Ll 316

1/2" NPT/PF RF
VETEED ERELR)
DIN 43650

M20x 1.50r1/2" NPT 85
(O] FRIEAC38)

VEEREE (BRAEALTEE)
M16 x 1.5

VENEHE

&/\: -1 kg/cm?

K .: 400 kg/cm?
VIRIERE

-20°C to +70°C

VBRI A

BRI 316 AN REBMRE
VIRERE
F+8°CRARZE+0.5%
VSR

IP66

VIR E

e 304

\4=¥: s

Mz

& A 316

v EARAEEY

SPDT x1 / SPDT x2

v S IN{REE

gL

H%: 25mm

VB AORIERIBE

+1.0%

vV I1EER

ST 3/4*2ZE

REN: 2/3* 2 ZE

IRiE: 1* 222
BE: 1.3*2ZE

ATIANTIS

M {2 BRI ExMI i ENFEREE
BU5R: AMPS (WP)

Bl (B8

:1/2" NPT 85)

REESMEENZE - BREHRSE - BRSOV EFEHERES -
(PRI IREER TR - URFIRERE)

5

24 OEM FRF5
SIEE gLl
BEEREEEE

IBANGE (EEEE:M16x 1.5 Fig)

www.re-atlantis.com



ATIANTIS

" (g4”) 100mm
Egé§ %282: (#6") 160mm

BRRY ; BB BRRY ‘ EEEE
_ DIN 43650 (SPDT x 1) , N 172" NPT AF
172" NPT/PE A B 172" NPT/PF AF B
/PF 23 Bzt M20 x 1.5 (SPDT x 1/ SPDT x 2) ’ (SPDTx 1/SPDTx2)

IRRY ZHRE Cable Gland
1/2" NPT/PF RS EBEANTE M16x1.5

n B51R3L
f/ TEIZE
H M16*1.5

|

\127\51@%

=K 250 VAC =K 28VDC
EX 5A (BUEEE)
A 5A
L2 BA 3A (BE2E)
1R 4538 999.9 #0538 999.9
RIERE -20°C~70°C -20°C~70°C

www.re-atlantis.com




ATIANTIS

EEERIER
/I8 SPDT x 1 SPDT x 2

0 -1~0 kg/cm? +2.5% +5%
1 0~1 kg/cm? +2% +5%
2 0~1.6 kg/cm? +2% +4%
3 0~2.5 kg/cm? +2% +4%
4 0~4 kg/cm? +2% +4%
5 0~6 kg/cm? 2% +2%
6 0~10 kg/cm? +2% +2%
7 0~16 kg/cm? +2% +2%
8 0~20 kg/cm? +2% +2%
9 0~25 kg/cm? +2% +2%
10 0~40 kg/cm? +2% +2%
1 0~60 kg/cm? +2% +2%
12 0~100 kg/cm? +2% +2%
13 0~160 kg/cm? +2% +2%
14 0~250 kg/cm? +2% +2%
15 0~400 kg/cm? +2% +2%

INEIpEEic

AMPS (WP) I5EtEISERMIMENRRS (M XEY)
=t EAIEIE  Code | BB

EE

Code

A | B | B | #EAmmE | - | - R - |
4N | 127 nNeT | 4F | 12" PF | - ] - R - |
1/2" NPT B _
DIN 43650 M20*1.5 T
DIN (SPDT*1) M20 1 (sppr*1/5pDTR) | N (gggg)’ Mie M16x 1.5
s1 |  spDT™ | s2 | SPDT*2 e - e - |

B2EaERER  BREEERE |

/A | BETSREHRS
/B RS
/C R

www.re-atlantis.com -3-




